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102 8:02| FHEE |= 8:48| _#E 45| 46| 4.1| 9.0/ 9.0

104 10:19| 7"FaEEE |=| 11:05| &= 11.7 | 12.2| 10.7 | 24.0| 18.0

106 13:06| 7"F3EE |=| 13:51| —&#HE 3.7| 39| 3.4| 110| 7.0

108 14:52| 7R"F3EEE |=| 15:38| —&#HE 20| 22| 16| 7.0/ 5.0

101 8:51| —#HE |= 9:37| IRHAERRE 47| 54| 3.4| 12.0| 7.0

103 11:08| &2 |=| 11:54| FE=EE 86| 86| 8.5| 23.0| 13.0

105 13:54| &R |=| 14:40| FEEE 6.7| 7.0| 6.0| 12.0| 11.0

106 15:41| Z&RE |=| 16:27| FEEE 35| 38| 28| 80| 9.0

202 6:17| ekl |= 6:43| 7REEER 1.1 1.1 3.0

204 7:14| Mkl |= 7:52|  7REEER 83| 11.9| 1.1| 16.0| 12.0 | LHh#HRE. ERYE

206 7:18| ARXAMM |= 7:55| ZBREERFE | 15.9| 22.3| 2.5| 28.0| 17.0 |EK(E

208 9:45| MEEROR |=| 10:20| ERERE | 3.8| 4.1| 34| 80| 6.0

210 12:35| pEE%KOR |=| 13:06| FEpeEsi | 1.2 1.3| 0.9| 6.0| 5.0 |3EE

212 17:10| Wded |=| 17:26| FRESER 03| 0.2| 0.6| 1.0| 7.0|209=212

201 6:53| 7EEER  |= 7:13| MRk 06| 0.7| 05| 3.0 2.0[201=204

203 9:14| ZBRERM |= 9:43| »EE%Ox% | 04| 04| 0.4| 3.0 4.0|203=208

205 11:59| BRERF |=| 12:33| v¢a%0% | 4.2| 4.6| 3.3| 23.0| 7.0 |FR/E

207 13:15| FfheREs [=|  13:55 W)ided 1.2| 1.6| 0.4 19.0| 6.0 |[AEENLREFED. FRAE
14:45  fak/N 6.8| 6.8 18.0 TRRI-INZ (UFEAE) (38[E)
15:25| #Re/fn kI 12.4 | 12.4 29.0 TRRI-INZ (UFEAE) (400E)

209 16:30| FEahERE =  17:09) W)ideE 29| 41| 0.6 17.0| 2.0|F&fE

211 17:59| FkashsrEt = 18:34| W)ded 22| 3.1| 03| 11.0| 3.0 [fAL/NBUREEEDH. FRYE

213 18:57| Fkashiat [=|  19:32| Ww)ided 27| 2.7 9.0 n L/ NUBE(SPEEEDH . FRAE

301 7:15| 7R |= 7:53|  7REEER 23.4| 24.0 | 13.3| 26.0 | 25.0 |F#E(T (58[E) . ZHERH. SR(E
12:08| #R/fn kI 22.8 | 22.8 30.0 TRAY—-IVNZ (Lrhst, ZHEAE)  (5E)
13:15| FRd/fn ki 19.8 | 19.8 29.0 TRAI—-IVNZ (Lrhtt, ZHEAE)  (4E])
14:45|  fak/N 12.9| 12.9 28.0 TRAI-IR (Lt ZHAE) (37E)
15:28| #R/fn kI 15.6 | 15.6 28.0 TRAI—-IVNR (Lt ZHAE) (39E])

302 16:30| #REEER |=| 17:17| FREER 59| 6.1| 1.0| 16.0| 1.0 |F#:&ET (23@) . FR/E

304 17:59| #RE5ER |=| 18:13| st 0.0 0.0 0.0 F#&EfT (0E) . FHOH. FHRAE

306 18:54| #RIEER |=| 19:08| oAt 0.0 0.0 0.0 F#&EfT (0E) . FHOH. FHRIAE

402 7:18| HBHHE |= 7:57| HLER 13.3| 18.7| 2.2| 28.0| 16.0 |EK(E

404 8:53| BHHE |= 9:32| TF7hEI 6.7| 7.4| 5.3| 15.0| 10.0

406 12:41| BHAE |=| 13:20| 7IbaI 36| 3.6| 3.7| 11.0| 9.0 |%EE

408 15:53| BHHAE |=| 16:32| FIhaI 1.6 19| 1.2| 5.0| 4.0]|405=408

410 17:48| BHHAE |=| 18:22| HEHR 03| 03| 03| 3.0 2.0[407=410

401 8:17| HWZER |= 8:51| H= 03| 03| 0.2| 20| 20

403 11:55| 7JhE1 |=| 12:39] FHA 57| 6.2| 49| 22.0| 16.0 |F&fE

405 15:12| 7JME1 |=| 15:51| FHA 49| 57| 3.5 17.0| 9.0 |FK(&E

407 17:02| 7JME1 |=| 17:46| FTHA 42| 58| 1.0 29.0| 3.0|FK(E

409 18:00| 77bET |=| 18:39| FHHE 3.0 4.0| 0.9]| 13.0| 3.0 |EgVNUBERIEEDH. TRIE

411 19:03| AEZER |=| 19:37| HHE 1.2 1.2 1.3 4.0 4.0 |BE4Vh2UREFEOH

413 19:47| HER |= 20:18| =A#2 Lt 1.6 1.6 4.0 FEHOH BN NAPF(LPFEEDH

502 7:19 Rl = 7:58| HLER 9.6 | 13.9| 0.8] 21.0| 9.0 |EK(E

504 9:57| A#F®EO |=| 10:19| FIhdi 40| 50| 21| 10.0| 6.0

506 12:41 Rl =| 13:07| 7Fhai 08| 09| 0.6| 3.0 2.0|%&EE

501 9:22| HLER |= 9:57| #TF®EO 1.7| 19| 1.2| 5.0| 3.0|501=504

503 11:55| 7Jbhai |=| 12:39 A0 29| 33| 21| 7.0| 6.0|F&fE
13:20] BRrh/Ep 79| 7.9 20.0 TRAI-IR (HfESE)  (14[8)

505 14:10| 77bET  |=| 14:39| #TF%O 1.8 21| 13| 6.0| 5.0
15:00|  Eop/)\ 31| 3.1 14.0 TRAY-IVR (HfESE)  (38[E)
15:30| B2/ 12.9| 12.9 17.0 TRAY-IVR (HfEAE)  (9E)
16:00|  Eofp/)\ 12.0| 12.0 15.0 TRAY-IR (HfESE)  (24[8])

507 17:00| 77bhEi  |=| 18:22 Bk 2.1| 2.8| 0.9| 15.0 | 3.0 [EZEVNDUREFEREDH. EEFHR+EKER. FTRE

509 18:05| SHZER |=| 19:20 Bk 1.9 1.9 6.0 RO BV NARFEIBFEDH . AR + @k, FRME

602 7:20 FFH = 7:58| HLER 10.6 | 15.1| 1.6| 20.0 | 14.0 |E&K(E

604 9:02 FFH = 9:35| 77hEI 1.5| 1.6| 1.0| 4.0| 1.0 |[F#uET (38m@)

606 12:27 FFH =| 13:00| 77bHI 1.3| 1.3| 0.0] 3.0| 0.0 |FMET (6@) . ZFEE

601 8:39| HWLER |= 9:00 H 1.0| 0.0| 1.0| 0.0| 1.0 |F#:&ET (2@)

603 11:57| 7Jbg1 |=| 12:25 BFH 22| 24| 1.0 11.0| 1.0 |F#&ET (37M@) . FR/E
13:20| Barh/Eegm) 5.8 5.8 13.0 TRRI=INZ (4. £bAm)  (13[E)

605 14:25| 7Jhai |=| 15:09 BiR 1.0| 1.0 0.0| 1.0| 0.0 |F#:&ET (4@)
15:00| B2/ 4.7 4.7 12.0 TRRAI=INZ (F48. E#sAmE) (38E)
15:20| =g+ 4.5 4.5 8.0 TRAI=INZ (F4. E#AmE) (15E)
15:30| B2/ 9.3 9.3 12.0 TRRI=IVVA (T8, E#5mE) (9[E)
16:00| B2/ 6.4 6.1 11.0 TRRAI=INZ (F48. E#8AmE) (300E)




